T o e

280+ 8 =
1532=1000+  +30+2

Round 1642 to the nearest
thousand =

764 x 8 =
LX + XXVI =

% of 100 =

1.6 x4 =

_ =725-142
1968 + 16 =
7.01+0.8 =

1701 =7 =
2432 =2000+400+ +2

Round 15542 to the nearest
1000 =

4542 x 9 =
CCXXV + DXXII =

zof 100 =
3.75x 5 =

_ =1435-754
3796 + 26 =
13.13 +5.6 =

2205+9 =
6441 = + +40 +1

Round 266972 to the nearest
1000 =

7750 x9 =
MDCLVI + CCCXXII =

3 of 100 =
5

6.83 x 6 =
_ =2542-1259
10032 + 48 =
24.104 + 3.053 =




280+8=35
1532 =1000 + 500+ 30 + 2

Round 1642 to the nearest
thousand = 2000

764 x 8 =6112
LX + XXVI = 86

%of 100 = 25

1.6x4=6.4

583 =725-142
1968 + 16 =123
7.01+0.8=7.81

1701 +7 =243
2432 =2000+400+ 30 + 2

Round 15542 to the nearest
1000 =16000

4542 x 9 = 40878
CCXXV + DXXII = 747

ZOf 100 = 75

3.75x5=18.75
681 = 1435 - 754
3796 + 26 = 146
13.13 +5.6 =18.73

2205 +9 =245
6441 =6000+400+40+1

Round 266972 to the nearest
1000 = 267000

7750 x9 =69750
MDCLVI + CCCXXII = 1978

%of 100 = 60

6.83 x 6 =40.98

1283 = 2542 - 1259
10032 + 48 = 209
24.104 + 3.053 = 27.157



